
Megamouth Relocation Project -

Specimen tank     February 2010

WA Museum - MM specimen tank Feb2010 page 1



support base of 100 x 50 x 2 mm 304 stainless steel tube

main tank of 304 stainless steel sheet 3.0 mm and laminated glass windows

3 x covers - 50 x 50 x 2 mm S.S.tube and 2.0 mm sheet, laminated glass viewing windows.

overall size - 5606mm long x 1877mm high x 1830mm wide

Fluid statistics  -

total volume = 8.9 m3
mass = 10,300 kg(60% glycerol) 

Enclosure statistics -

support base = 260 kg
main tank      = 750 kg
covers           = 150 kg

WA Museum - MM specimen tank Feb2010 page 2



M20 bolt point to main frame 

cross brace - 50 x 50 x 2 (3x)

external - 40 x 6 rolled to 500 ID

porthole trim (13x)

internal - 20 x 6 rolled to 560 ID

glass window - 550 diameter
VLAM 8.38 laminated glass
(13x - water jet cut)
siliconed to inside surface

vertical stiffeners (6x) -

two RHS 100 x 50 x 2

welded together

open ends to be capped

flared tubes
for ball valves

2x 50mm 
2 x 18mm

strap point - 25 x 25 RHS (12x)

top edge - 100 x 50 RHS

end view

tank component

WA Museum - MM specimen tank Feb2010 page 3



284

7
1

9
3

5

1
4

2
3

1
1

9
9

Ø560 ID

Ø500 ID

8
5

0

5
0

0

1
4

5
0

3

100

5
0

1
3

6
0

1
4

9
5

100

9
0

0

5
0

0

1826

1826

1826

5606

1
0
0

plan view

side view

tank component

WA Museum - MM specimen tank Feb2010 page 4



perspective view

sub-frame component

material - 100 x 50 RHS
304 stainless steel

all joins to be fully welded
welds and seams buffed smooth

WA Museum - MM specimen tank Feb2010 page 5



R90

1
0

4
0

6
4

0

2
0

0

3
0

0

6
0

0

795

1
0

0

100

5460

1
5

0
0

Ø20

sub-frame component

material - 3.0 sheet
304 stainless steel

tank locating tabs
M20 bolts to fix

plan view

end viewside view

WA Museum - MM specimen tank Feb2010 page 6



1898

4
57
1

5
0

1
0

2
6

1873

1
6

4
5

50

SUDMO D10 lid
304 stainless steel
weld into 200mm dia opening

handle / strap point (4x)
material - 25 x 25 SHS
304 stainless steel

edge material 50 x 50 x 2 SHS
304 stainless steel

sheet material 2.0
304 stainless steel

plan view

end view side view

cover - front

WA Museum - MM specimen tank Feb2010 page 7



cover - middle

1831

5
0

1
5

1
0

1830

1
6

4
5

SUDMO D10 lid
304 stainless steel
weld into 200mm dia opening

handle / strap point (4x)
material - 25 x 25 SHS
304 stainless steel

edge material 50 x 50 x 2 SHS
304 stainless steel

plan view

end view side view

sheet material 2.0
304 stainless steel

WA Museum - MM specimen tank Feb2010 page 8



cover - tail

SUDMO D10 lid (1x) D11 lid (1x)
304 stainless steel
weld into 200mm dia opening

handle / strap point (4x)
material - 25 x 25 SHS
304 stainless steel

edge material 50 x 50 x 2 SHS
304 stainless steel

plan view

end view side view

sheet material 2.0
304 stainless steel

1896

6
1

7

1843

1
5

1
0

WA Museum - MM specimen tank Feb2010 page 9



8
8

0

1
1
5
9

5
4

6

638

698649

1
1
1

11
1
5

2

709
726

582

8
4

2

70

top covers - windows and gasketsl

gasket material -
5mm neoprene, adhesive both sides

window material -
6.38 VLAM laminated glass

WA Museum - MM specimen tank Feb2010 page 10



sub-frame lifting plates

WA Museum - MM specimen tank Feb2010 page 11

2
2

5
R60

R60

Ø60

Ø16

4
3

200

4
5

0

25

50

4
3

12

M16 threaded

2
7

5

200

2
2

5

inner lifting plate (4x)
material - 12mm plate
304 stainless steel

outer lifting plate (4x)
material - 12mm plate
304 stainless steel

lifting plates attached to
sub-frame with M16 bolts (6x)


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

